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( Business Statistics )

g Full Marks : 80
Time : 3 hours

The figures in the margin indicate Jfull marks
Jor the questions

Answer either in English or in Assamese

Answer Question Nos. 1, 2, 3 and any four
from the rest
1, 2 9% 3 7R 29 T3 B4 e 19} 2@
R R e oif61E Teg Bl

fa) Define price relative of a commodity. 1
B! T 7T el e i |

- (b) What are the different kinds of ~error
b associated with tests of significance? R
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(2) (3)

() Write True or False :

M) (A TS for

() Ifcov(x, y)is positive, then both the
regression coefficients are positive.
M cov(x, yR TN T =, (ST
ST BN A T BT |

() Extreme values in a series does not
affect the arithmetic mean.

951 O A 5N WA AABI N AeiiR®
A |

Bich observation of a given distribution
‘multiplied by a constant value 3, find
He mean of the new set of observations if

6 mean of the given distribution is 42. il

M b Rerema deedt T @bl gee 3 B
T W, (R A PR W T

- Wfenea 3t fian Reremeom e 42 29 |

] Name two control charts for variables in

- Btatistical quality control. 1
- RIS gl fRagee vere cwae frgd g

- W AT fora - ’

| Choose the correct answer : 1

W4 beg 1R Sferea

Salient features responsible for seasonal
variations are

- P sl AT M a7 CaPiEpTR B

(d) Fill in the blanks :
et 372 79 %1

(i) Data collected for the first time
through investigation are called ;

PR GRAS APRET A RS

O R (i) weather
(i)- The sum of the deviations of : o]
the V?.lues of a variable from its ﬁ . L ERER Y
mean is : ‘
; A Feraeregsr
< Rt (iti) festival
foetag 2 |
S
(@ii) The values of the dependent variable Bl of thishiphins
in interpolation and extrapolation .
are termed as 2 8799 (AR (R
RcieCIIRSIE I ElcinicilE T oV I e ) Write two limitations of statistics. 2
‘ TEE I PRI | sifsiean fesrra 751 et fray |
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Al6/684 ( Continuet

(4) (5)

(b) Two regression coefficients in a distribu-
tion are calculated as —1-89 and —-0-52.
Is it possible? Justify your answer.
95 Remema o1 TEET gake S |
~1-89 W& ~0-52 (@ 0¥ | GO W
T ? (oM Tegq Yfegerel ful |

(c) Find the geometric mean of 0-3 and 1-2.
0-3 W 129 Grareq [y Sfere |

% of electric bulbs manufactured
8 company are defective, use Poisson

ibution to find the probability that
‘& sample of 100 bulbs (i) 5 bulbs will

en, e”° =0-007)

W @b oefie oo w11 Rgfafeama
% wihye =, oo 1005 ReRafe
W aford e @) s whye R
[ e we (1) e @iy RgRafe

4 iR v 35T eeae R A w0

Nl ¥’ e =0-007)

(d) What is a scatter diagram?
ol foq &5 2

(e) Mention two situations in which census
survey is a must.

i

a1 o1 “ARERT 31 Teay v [ 51 AR
fore s e | ‘
dention some sources of
3. Answer any four parts of the following : 5x4=2| ata. What precautions S;szcl)(ril da;')e'
woq R (e BB S T e lken in collecting secondary data?

(a) An. aeroplane covers the four sides of
a square field at speeds of 1000 km,
2000 km, 3000 km and 4000 km per
hour respectively. What is the average
speed of the aeroplane in its journey ‘
around the field?

e @ @b e oREE vRewe
MG 1000 km, 2000 km, 3000 km H®
4000 km 2AfesfHre wfewy w1 fRaEeE

oD DiRewIc wfee FAwe TF AR B I e eI ([ STEIPER ST
e e 2 g1 <01 |

G (BN T SrEy 91 (N9 ©Yy
WY (FES (PCTEE TTST SETg Al

Discuss  briefly various problems
ivolved in the construction of index
iimbers.

8 defective and (1) none will be defective.
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0. (7)

(e) Using an appropriate interpolation
formula, estimate the weight of a baby at
the age of 4 months from the data given
below :

SR G5 BRE g q9ER IR were f
SURMT ] 4 T IR G5 @RER ww

fdard deviation of yearly profits :
' 3+4=7
P11 3= = fixr oy | 3= areg
15 1 N17<s [R5eTeICh arerely <5

I T
Age (in month) : 0 2 3 S 6 20-30 30-40 40-5
0 50-60
REEACIED)) :
Weight (1bs) ¢ R T 8 < 1012 %)
SET (7115 )

inies : 30 58 62 85

4. (@) Explain the term °‘classification’. Point
out the importance of classification in
statistical investigation. State the different :
methods of classification of statistical 4 Bare)

data. 2+2+2 Wanies : 105 70 42 28

‘e o o w9 ARRR
NS NPT wFy Gy w91
APRRIF ©I@ eNewmT fvn mfm

60-70 70-80 80-90 90-100

fern 1 | down the probability distribution
() Given the two regression equations as Aumber of heads in a toss of
follows : I8 together. Also find average

ber of heads. 2+1=3
i e fost IR o ged

Wor Retech st 1 2 SR gee
W Tferezr |

4x-5y+33=0 and 20x-9y-107 =0

Find the correlation coefficient between
x and y.

SRR M BT @ers A e o e
4x-5y+33=0 W¥ 20x-9y-107 =0

X F y I S F2970 BNF Tfereqy |
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(8) (9)

-

Pltiplicative law of probability
trate it with an example., 2+4=6

BBLUCt! Pt e e b1 S

6. (@) In an examination, 10 students secut
the following marks in Business Statigt|

and Accountancy : i
I

901 RS, 10 o war s 4R It |
Rem @ Rover-Rars oy TR 1

fest bl i hit a target thrice out of S shots,
! #out of 5 shots and ¢ thrice out
0t8. They fire a volley. What is
Bbability that A and C can hit
? 4

SWWSW;B’SW
N S C, 4 a9t Rers 3
b Wi e wfg o
LRRCE e R
19 i e o

Marks in Business
Statistics : 80 53 63 77 71 83 87 86

1M AT e
T3

Marks inAccountancy : 87 57 82 85 52 63 91 778
Rotet - 7 ,

Find the correlation coefficient betwet
the marks in Business Statistics
Accountancy.

e fRoram Rem o f2oter-Rmm
&S RN @15 Bfeyeay | .
: 6 assignable and chance causes
Etion in manufacturing process?
Mmanufacturing process said to be
‘Statistical quality control? 4+1=5

U oot e e BRe o
siiffrescy qf5g oy ﬁ'ﬂi?"f F2 Sk
Sl <51 1R wer e
i & 2

(b) State the essential points to be noted
drafting a questionnarie.

TR O g S )
2T Seay w1 | '
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(11

( 10 )
t two) : 3x2=6
(b) The following table gives the ort notes on (any )
numbers for different groups of ite Bq© By o1t fora
their respective weights for the year | B . et coriivus
(base year = 2000) : : g iy
ity © 2005 w9 (ferow o , random sampling
) IR T A (MY T W @ R e o
s : ts of hypothesis
Group Group Index No.  Group heigl —
L CHTPF  IBTE .
Food (9I2¥) 525 4018
‘ * k%
Clothing 325 16
(comer =ifvew) ;
Fuel (&) 240 15 h
Rent (¥3 ©[1) 180 20 ‘
Others (S77) 200 o

Calculate the overall cost of living
number. Interpret the result.

R G R ®opae e
21 TG T 7 |

9. (@) What is time series? Give two exair
of time series. What are the diffe
components of time series?

e 2 W%iﬁw‘tﬁw
e RfST B 251 % 5 2
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